The Industrial Revolution in ENGLAND
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2) Pnor to England's Agricultural Revolution, examples of ancient or medieval farming innovations included:
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3) Prior to England’s Agricultural Revolution, what factors limited population growth for civilizations around the world?
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6) Advancements in EnglandsAgncuItural Revolution include: mm)t (P b 521 Mwh’mmwe (erhkij

fatlrclove _fonces weedly %/M Mwy Seed dulls. fpethicey elechie
7) Written Response: Choose one of the four writingprompts to respond to... DW7

Fi a. How did England’s Agricultura! Revolution lead to increased populations? Make connections...
b. What were the two most important developments of the Agricultural Revolution? Defend your position...
vc.  Why do you suppose some historians describe it as more of an evolution than a revolution? Explain...
d. How did the Agricultural Revolution pave the way for the Industrial Revolution the followed after? Make connections...
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8) How did the Agricultural Revolution help bring about the Industna Revolution? b . Rovslidia _made” [
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9) How did the Industrial Revolution help bnﬁabout the Agricultural Revolution? dhe hdus 097@/ réve lw%m
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) What types of developments emerged in 1700s England in the FIRST INDUSTRIAL REVOLUTION?
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11) What types of developments emerged all over Europe in the SECOND INDUSTRIAL REVOLUTION?
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12) Provide a brief description of each of t e €0 cepts that trace back to (gr were promoted by) Scottlsh economist Adam Smith...
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a) Which of Smith’s ideas do you connect to his quote, “wherever there is great prosperity, there is great inequality”? Explain your answer
b) Which of Smith’s ideas connect to his quote, “Man is a bargaining animal: no other does, no dog exchanges bones with another"? Explam
c) Identify a modern company that operates with some of Smith's ideas. Explain which ideas connect and how they function in that company.

13) Respond to one of these three questions... I 26¢ IMMM 0(70 TWHﬂM’ //lmﬂ /w Ale . Thay

14) Fill in the graphic organizer to detail the inte\rc%nnectedness
of the Agricultural, Industrial, and Scientific Revolutions...

In other words, these three revolutions were co-dependent because@

15) Provide some details for each of the
seven reasons/theories regarding why
England was first to industrialize. .. i
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vi. STRONG, STABLE ECONOMY: D‘b
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16), What technologies were developed in England’s Industrial Revolution? FACI'ORIE.S ’f S ’fcm #{’"’/
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17) SOLVE THE RIDDLE: What attracted people to cities, and encouraged spending and vacationing? W 5‘

18) SOLVE THE RIDDLE: What increased farming and fishing industries by providing cheaper transportation?
19) SOLVE THE RIDDLE: What created thousands of jobs and attracted many to cities for leisure & for moving?

20) How did WORKER SAFETY become a pressing social issue during the mdusnal revolutlon7
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w did QUALITY OF LIFE become a pressing social issue during the industna revolution?
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22) How did CHILD LABOR become a prvessmg soclal issue during the industrial revolution?
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23) How did A WEALTH GAP become a pressing social issue during the mdustnal revolutlon?
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24) How d|d CLASS TENSION‘éecome a pressing social lsstr/ dunng the mdustnal revolution?
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25) In your opinion, which social issue posed the BIGGEST PROBLEM? Justlfy your response...
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